oo = == == ==[1[]

00 D0000000000013000000 00000000000000
0oO@oooon)

goo:

000 : 2024/9/26 13:59:50

oooo

00000000000 0000D0113070190000001135502265B0 0000001130000
oOo0ooooOooooooooogooo

OO00o0Oo0oOoOooooOoooooobooogo
(0)OoooOoOo1soilodoodooopoobz2e0 00000200 0gooo1gonod
0000110160 0000001102300000001103000000000700
(OHoooooooooooooooooooo

OO000o0oOoOoooooooz20000

gooobooooogooon
(OHhooooobooDbooDoOoDoOooDOOooDOOooDbOOooDoOooOoobOoobOooAMODDOODOO
dodooboooeD000d0OOoOooDO3340170 00000000310 000000 ObDOoOoOa
goooooooooooooooooooboooooooooon
(@OHooooooobooowusgo1pooooooooooboooooo
@OHooooooDbowoobDboOoobooo
(0)OoooOoOobOooOoUoDi13goosoogoooooooooooboooooo

O http://www.dches.tyc.edu.tw/C O

(O)oooooooboooooooUoUopDoOoUOOoDoOoUOO bogoDbooOooDbboooooDoo
00000000 Doooooooooood
goo0oooOo0oboOoOoO0U0OoOooUOU0oOOoOoU0O0obOOoOo0U0oDOOoUUOoDOOOoUOODboOoOOoDO
oooooogoooo

0O00O00O00d0bD130go0oodoooodooood0nD cogoooooooogo

O https://www.tyc.edu.tw/0 0000 —-0000000DOO0O

http://163.30.202.2 2025/5/19 22:39:18 - 1


http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

